Problema 1 Calcular los siguientes limites:

L lim (32" +52° — 72 + 22 + 1)

xT

L 8t —Tx?—4x+3
2. lim
T— 00 525 — 3z — 2

. V8rA —322+5x+3
3. lim
2= T 32212

4. Tim (\/6:52 5z +1— 622+ 22 — 1)

L 8zt —Ta? —4x+3
5. lim
t—1  Hrd -3z —2

o2t — Tt —dr+4
6. lim
t—2 z°— 15z —2

Vaz -2 —8x+7

T xh—n>19 r—9
o V222 —1—/1lz+5
8. lim
r— 6 xr—6
) 22+ 3zx—1 a
9. lim 5
T—00 T
2
, 222 + 52 —9\" i
10. lim (——s——
z—>00 T2 -6
7 _
1 lim 72?2 — 3z + 8
r—o0  —3r + 5
\/f
12, I YL ES
T—00 2 +5
5 o,2
13, lim ST 2w
r—0 4x
v/ —226 —1
14, lim 2+ 3w
T—00 212 — 3

15. lim (\/2x2—3x+1+\/x2+2x—5)

Tr—>00



Solucion:

1.

10.

11.

12.

13.

14.

15.

lim (=3z* +52% — 722 + 22 +1) = —0
r— 00
4 2
72?4
1w 8z* —Tx x+3 _ 0

z—oco  5xd — 3w —2

o V/8at =322 +5x+3 2v/2
lim = _
2o 322 1 2 3

G
12

lim (\/6x2—5a:+1—\/6:1:2+2a;—1):
r—>00
L 8zt —Tx?—dx+3 7
lim =
t—1  Hxd -3z —2 11

o2t — T — 444 32
lim = —
t—2 x> — 15z —2 65

i Va? —2—\Bx+7  5/79
FP— r—9 79

V22 —1—1lz+5 1371
m —
r— 6 x—06 142

lim (\/2x2—3x+1+\/x2+2x—5):oo

Tr—>00



